





Order Entry

8:00AM - 3:30PM Mon - Thurs 515.281.7422 Toll Free: 866.IowaABD (866.469.2223)



Will-Call

Will-Call Order: 8AM - 1PM Mon - Thurs Warehouse Pickup: 11AM - 3:30PM Mon - Thurs



Fax Orders 8AM - 3:30PM Mon - Thurs Products Fax: 515.281.7385 Toll Free Fax: 877.891.5348



Scan the icon with your mobile phone to download IABD Pricing, Promotions & TPR

Get the free mobile app at http://gettag.mobi

Thanksgiving Order & Delivery Schedule

The Division will be closed on Thursday, November 24, 2011 and Friday, November 25, 2011 for the Thanksgiving holiday. Please refer to the day of the week you normally place your order to see how your schedule will be impacted. MONDAY: Orders must be received by Friday, November 18th. Deliveries will be made on Saturday, November 19th.

TUESDAY: Orders must be received by Saturday, November 19th. Deliveries will be made on Monday, November 21st.

WEDNESDAY: Orders must be received by Monday, November 21st. Deliveries will be made on Tuesday, November 22nd.

THURSDAY: Orders must be received by Tuesday, November 22nd. Deliveries will be made on Wednesday, November 23rd.

Future holiday schedules are posted on the Division's website.

Invoice Reminders

Invoices reflect valid prices for the day your order is placed, not the day it is delivered. The next month's pricing promotions do not come into effect until the first of each month.

We Want Your Comments!

To better serve our customers, many updates and improvements have been made at ABD. Your suggestions and comments are very important to us, especially during this time when changes are being made. Please contact any of the following with any feedback you may have.

Doug Webb, Deputy Director of Administration

515.281.7444 or Webb@IowaABD.com

Tonya Dusold, Communications Director

515.281.7420 or Dusold@IowaABD.com

New Codes Effective November 1st

Code	Description	Size	Pack
75210	Kinky Liqueur	0.750	12
16870	Blue State Bbn.	0.750	12
21220	Red State Bbn.	0.750	12
35881	Pinnacle Marshmallow	0.750	12
35221	Pinnacle Banana	0.750	12
45950	Tropical Jack Rum	0.750	12
83356	Ice Hole Plum Schnapps	0.750	12
35109	Russian Standard Original Vodka	0.750	12
77395	Skinnygirl White Cranberry Cosmo	0.750	12
75208	Kinky Liqueur Mini (Temporary)	0.050	6
44536	Cruzan Orange Rum	0.750	12
42079	UV Cake Vodka	1.000	12
77089	Southern Comfort Lime	0.750	12
2677	Grey Goose Multi Pack (Each unit contains 80 Proof, L'Orange, La Poire, Le Citron)	0.050	12

Code Conversions Effective November 1st

OLD	NEW	DESCRIPTION	SIZE	PACK
37111	57090	Bacardi Cocktails Pina Colada	1.750	6
37113	57092	Bacardi Cocktails Strawberry Daiquiri	1.750	6
34548	34566	Pearl Vodka	1.750	6
47798	64795	Courvoisier Rose	0.750	12

Discontinued Codes Effective November 1st

NEW	DESCRIPTION	SIZE	PACK
	Southern Comfort Lime (replaced with .750ml		
77080	code 77089)	1.000	12
35427	Russian Standard Platinum Vodka	0.750	12
41956	UV Sweet Green Tea	0.750	12

November Promotions

}Glazer's of lowa

4377 NW 112th Street Urbandale, IA 50322 Phone: 515.252.7173 Fax: 515.252.8681

All purchases must be on one invoice dated November 2011. Invoice must be submitted within 45 days of invoice date to qualify for funds. In the event of out of stocks, multiple invoices will be honored. Please present a copy of the invoice to your Glazer's Spirits Sales Representative or submit a fax to (515) 252-8681. Christian Brothers Honey: (72722)

Purchase 1 case, receive a \$10 promo check.

Tequila Rose (750ml or Liter) & Hot Rose (750ml): Mix & Match, (65199) Tequila Rose Strawberry Liter, (65200) Tequila Rose Strawberry 750ml & (74763) Hot Rose 750ml

Purchase 5 cases, receive a \$75 promo check.

Purchase 10 cases, receive a \$175 promo check.

Purchase 15 cases, receive a \$300 promo check.

Sobieski Vodka: Mix & Match, 750ml (34690), 1.75L (35213), 4 Oranges (41049), or Gift (3201)

Gift sets available: Sobieski Vodka 6/1.75L with Glasses – while supplies last

Purchase 3 cases, receive a \$25 promo check. *Must include both* 1.75L & 750ml.

Purchase 5 cases, receive a \$75 promo check. *Must include both* 1.75L & 750ml.

Purchase 15 cases, receive a \$250 promo check.

Purchase 25 cases, receive a \$500 promo check & a 22" TV/DVD combo (only 16 units available). *Please check with your Glazer's Rep for availability*.

Purchase 35 cases, receive a \$500 promo check & a 32" TV/DVD combo (only 5 units available). *Please check with your Glazer's Rep for availability.*

Griff's Cowboy Whiskey: (27512) 6/750ml case

Purchase 1+ case, receive \$1 per bottle on a promo check. (\$6 *minimum pay-out*)

Purchase 3+ cases, receive \$3 per bottle on a promo check. (\$54 *minimum pay-out*)

Purchase 5+ cases, receive \$5 per bottle on a promo check. (\$150 minimum pay-out)

}Johnson Brothers of Iowa

2515 Dean Ave. Des Moines, IA 50317 Phone: 515.262.1199 Fax: 515.262.0845 Please send all invoices to Cory Meiners or Scott Oeltjenbruns at Johnson Brothers. All purchases for each deal must be made on one invoice. Deals valid during November 2011. Svedka Flavors: All flavors & Svedka Grape NEW Purchase 6 bottles Svedka Grape, receive a \$25 gift check. Purchase 4 cases (48 btls) Svedka Flavors, receive a \$250 gift check. Must include 1 case of Grape. Kinky Liqueur: 750ml only Purchase 5 cases, receive a \$25 gift check. Purchase 10 cases, receive a \$100 gift check. **Opulent Vodka:** Purchase 5 cases, receive a \$100 gift check. **Ron Diaz Spiced Rum:** Purchase 5 cases, receive a \$100 gift check. **New Amsterdam Vodka:** Purchase 5 cases, receive a \$30 gift check.

Purchase 10 cases, receive a \$90 gift check. Purchase 20 cases, receive a \$240 gift check

Southern Wine & Spirits

Fax: 515.369.9330

All purchases must be on one invoice dated November 2011. Invoice must be submitted within 45 days of invoice date to qualify for funds. In the event of out of stocks, multiple invoices will be honored. Please present a copy of the invoice to your SWS Sales Representative or submit a fax to 515.369.9330.

<u>Smirnoff & Smirnoff Flavors:</u> Mix & Match, all sizes & flavors (Cocktails excluded)

Purchase 15 cases, receive 6 per case = 90.

Purchase 30 cases, receive \$8 per case = \$240.

Purchase 60 cases, receive 10 per case = 600.

Purchase 100 cases, receive \$14 per case = \$1400.

Diageo Cocktail: Mix & Match between Authentics, Golden, Baileys Mudslide, Captain Morgan LIIT, Smirnoff Cocktails & Jeremiah Weed Half & Half (4pks = 2 to 1).

Purchase 15 cases, receive \$2 per case = \$30.

Purchase 30 cases, receive \$3 per case = \$90.

Purchase 60 cases, receive \$4 per case = \$240.

Purchase 100 cases, receive \$8 per case = \$800.

Diageo Tequila: Mix & Match,(Liters Outlined) between Jose Cuervo Especial Gold, Silver, Black, Tradicional Reposado, Tradicional Silver, Don Julio Reposado, Don Julio Anejo & Don Julio Silver. Purchase 5 cases (max 1 Liter), receive \$10 per case = \$50. Purchase 10 cases (max 2 Liters), receive \$20 per case = \$200. Purchase 25 cases (max 5 Liters), receive \$23 per case = \$575. **Crown Royal Higher Marques:** Mix & Match, Cask 16 & XR. Packaged 6 bottles per case

Purchase 1 case, receive \$50.

Ketel One Vodka: 1.75L only

Purchase 5 cases, receive 10 per case = 50.

Purchase 10 cases, receive \$15 per case = \$150.

Diageo 375ml Family Package:

Purchase 1 case Captain Morgan Original Spiced 375ml, 1 case Crown Royal Deluxe 375ml, 1 case Jose Cuervo Especial Gold 375ml & 1 case Smirnoff Red 80pf 375ml, received \$50. *Max payout per account* = \$50.

Diageo Rum: Mix & Match (Liters Outlined) between Captain Morgan Original Spiced, Lime Bite, Silver, 100pf, Tattoo, Private Stock, Myers and Parrot Bay Flavors. (*Cocktails excluded*)

Purchase 15 cases (max 3 Liters), receive \$5 per case = \$75.

Smirnoff Fluffed, Whipped & Coconut Vodka: Mix & Match, NEW 750ml

Purchase 3 case, receive \$5 per case = \$15. *Must include 1 case of each.*

Purchase 6 cases, receive \$9 per case = \$54. *Must include 1 case of each.*

Purchase 10 cases, receive \$12 per case = \$120. *Must include 1 case of each.*

Baileys Original & Flavors: 750ml

Purchase 3 cases, receive \$5 per case = \$15.

Jeremiah Weed Sweet Tea: Mix & Match, all sizes, Original & Peach

Purchase 10 cases, receive \$9 per case = \$90.

<u>Ciroc Vodka:</u> Mix & Match, all sizes, Original, Red Berry & Coconut.

Purchase 5 cases, receive \$15 per case = \$75.

Purchase 10 cases, receive \$20 per case = \$200.

Godiva Vodka: Mix & Match, Chocolate & Chocolate Raspberry. Purchase 2 cases, receive \$12.50 per case = \$25.

Purchase 5 cases, receive \$20 per case = \$100.

Crown Royal Deluxe & Black: 750ml

Purchase 3 cases, receive \$5 per case = \$15. *Must include 1 case Black.*

Hennessy VS: 200ml Scuba Pack (2666) Packaged (2)12 packs per case

Purchase 2 cases, receive 12 per case = 24.

Purchase 4 cases, receive \$24 per case = \$96.

Purchase 6 cases, receive \$36 per case = \$216.

November 2011

Grand Marnier: Holiday VAP w/ Chiller Bucket (3144) Packaged 6 bottles per case Purchase 2 cases, receive 12 per case = 24. Purchase 4 cases, receive \$18 per case = \$72. Belvedere: Mix & Match, all sizes, Pure & Bloody Mary Purchase 2 cases, receive \$24 per case = \$48. Purchase 5 cases, receive 30 per case = 150. Purchase 10 cases, receive 42 per case = 420. Hennessy VSOP: 375ml only (48144) Packaged 24 bottles per case Purchase 6 bottles, receive \$24. Purchase 12 bottles, receive \$60. Purchase 1 case, receive \$144. Glenmorangie: Mix & Match, 10yr, Lasanta & Nectar D'or Purchase 2 cases, receive \$30 per case = \$60. *Must include 2 types*. Purchase 4 cases, receive \$42 per case = \$168. Must include 3 types. Purchase 8 cases, receive \$54 per case = \$432. Must include 3 types. Purchase 10 cases, receive \$60 per case = \$600. Must include 3

Spirited Brands of Iowa

3410 Kingman Blvd.

Des Moines, IA 50311 Office: 515.274.0103 Cell: 515.202.1661 Fax: 866.751.8118

types.

Please submit copies of all invoices to the above address to the attention of Jeremy Thompson either via fax or mail. All invoices must be submitted by December 15th for payment.

El Mayor Tequila:

Purchase 1 case, receive a \$30 gift check.

Purchase 3 cases, receive a \$135 gift check.

Pearl Vodka: Mix & Match, all flavors & sizes, Pearl Black (34546), Pearl Pomegranate (34702), Pearl Coconut (34561), Pearl Blueberry (35179), Pearl Cucumber (35699), Pearl Orange (35702), Pearl Caramel (35692) & NEW Pearl Wedding Cake (35921) 750mls and/or Pearl Black 1.75L (34548)

Purchase 4 cases, receive a \$100 gift check.

Purchase 6 cases, receive a \$180 gift check.

Purchase 10 cases, receive a \$400 gift check.

}Wirtz Beverage Iowa

3101 104th Street, Suite 4 Urbandale, IA 50322 Phone: 515.252.1665 Fax: 515.252.1708 All accounts are eligible to purchase ONE of each of the following deals. All purchases MUST be made in the same week and invoices MUST be faxed or sent to our office and received by December 15th for payment. Bacardi B&B 750ml, DiSaronno 375ml & 750ml & Drambuie **750ml:** No Gift Sets Purchase 3 bottles of each, receive a \$25 check. Purchase 1 case of each, receive a \$100 check. Bacardi Gold, Select & Superior: 750ml, 1L & 1.75L Must include 1 case Gold or Select. Purchase 5 cases, receive a \$25 check. Purchase 10 cases, receive a \$75 check. Purchase 20 cases, receive a \$200 check. PLUS \$12 SPA on 750ml Bacardi Oakheart: 1L Purchase 5 cases, receive a \$50 check. Purchase 10 cases, receive a \$150 check. Bacardi Flavor: 50ml pack Purchase 1 case, receive a \$25 check. Dewar's White Label: 750ml & 1.75L Purchase 5 cases, receive a \$50 check. Purchase 10 cases, receive a \$150 check. PLUS \$24 SPA on 1.75L Eristoff: 1.75L Purchase 1 case, receive a \$25 check. Purchase 3 cases, receive a \$100 check. **Beam Global** CC Classic 12 Yr: Purchase 1 case, receive a \$25 check. Purchase 3 cases, receive a \$100 check. Canadian Club: 750ml & 1.75L Purchase 15 cases, receive a \$150 check. Purchase 25 cases, receive a \$300 check. Purchase 50 cases, receive a \$700 check. **Courvoisier Rose:** Purchase 1 case, receive a \$25 check. Cruzan Rums: 750ml only Purchase 3 cases, receive a \$50 check. Purchase 5 cases, receive a \$100 check. Effen & Effen Black Cherry: Purchase 6 bottles, receive a \$25 check.

Purchase 6 cases (36btls), receive a \$250 check.

Page 4 of 6

November 2011

Iowa ABD Specials

			Cut:	
		ľC	(1171	
~	CVI		Out.	

Purchase 1 case, receive a \$25 check. Purchase 3 cases, receive a \$100 check. Jim Beam: 750ml & 1.75L Purchase 5 cases, receive a \$50 check. Purchase 15 cases, receive a \$150 check. Purchase 25 cases, receive a \$300 check. Purchase 50 cases, receive a \$700 check. Jim Beam Black, Jim Beam Rye & Red Stag: Purchase 4 bottles of each, receive a \$50 check. Purchase 1 case of each, receive a \$200 check. Lord Calvert: 750ml & 1.75L Purchase 3 cases, receive a \$50 check. Purchase 10 cases, receive a \$175 check. Purchase 25 cases, receive a \$500 check. Pucker Vodkas: 750ml Purchase 5 cases, receive a \$100 check. Purchase 10 cases, receive a \$250 check. **Ri 1**: Purchase 6 bottles, receive a \$100 check. **Thatcher's:** Purchase 3 cases, receive a \$100 check. **Brown-Forman** Chambord Vodka: (34138) Purchase 3 cases, receive a \$100 check. El Jimador Anejo, Blanco & Reposado: Purchase 3 cases, receive a \$100 check. PLUS \$12 SPA on Blanco & Reposado \$6 SPA on Anejo Gentleman Jack: 750ml Purchase 3 cases, receive a \$75 check. Gentleman Jack: 1.75L Purchase 1 case, receive a \$30 check. Southern Comfort: 750ml & 1.75L Must include 1 case SoCo Fiery Pepper 750ml & 1 case SoCo Lime 750ml Purchase 7 cases, receive a \$125 check. Purchase 15 cases, receive a \$360 check. Woodford Reserve: Purchase 3 cases, receive a \$75 check. Pernod-Ricard USA Aberlour 12 yr, Boodles Gin, HW Triple Sec, Paddy's Irish Whiskey, Passport Scotch, Power's Irish Whiskey, Presidente Brandy: Minimum 1 bottle of each Purchase 1 case (12btls), receive a \$100 check.

Absolut 80°, 100°, Glimmer Pack & Flavors: 750ml & 1.75L Purchase 10 cases, receive a \$100 check. Purchase 15 cases, receive a \$180 check. Purchase 20 cases, receive a \$360 check. Purchase 25 cases, receive a \$500 check. Purchase 50 cases, receive a \$1200 check. Purchase 100 cases, receive a \$2600 check. Absolut 50ml Pack: 24 assorted 5 packs Purchase 1 case, receive a \$25 check. Avion 50ml Pack: Purchase 1 case, receive a \$25 check. Jameson Irish Whiskey: 750ml & 1.75L Purchase 3 cases, receive a \$100 check. Purchase 5 cases, receive a \$175 check. Purchase 10 cases, receive a \$375 check. Purchase 25 cases, receive a \$1000 check. Malibu 50ml Pack: Purchase 1 case, receive a \$25 check.

 Malibu Rums:
 Coconut, Cranberry Cherry, Island Melon, Mango, Passion Fruit & Pineapple, 750ml & 1.75L

 Purchase 5 cases, receive a \$100 check.

 Purchase 10 cases, receive a \$225 check.

 Purchase 15 cases, receive a \$225 check.

 Purchase 15 cases, receive a \$375 check.

 Purchase 25 cases, receive a \$750 check.

 Seagram's Gin, Twisteds & Distillers Reserve:

 750ml & 1.75L

 Purchase 5 cases, receive a \$50 check.

 Purchase 10 cases, receive a \$125 check.

 Purchase 25 cases, receive a \$350 check.

 Purchase 5 cases, receive a \$350 check.

 Purchase 5 cases, receive a \$350 check.

 Purchase 5 cases, receive a \$350 check.

 Purchase 50 cases, receive a \$350 check.

 Purchase 50 cases, receive a \$900 check.

Purchase 100 cases, receive a \$2000 check. **Proximo**

1800 Tequila: Anejo, Reposado & Silver
Purchase 3 cases, receive a \$100 check.
Purchase 5 cases, receive a \$175 check.
Purchase 7 cases, receivea \$275 check.
1800 Ultimate Margarita RTD, 1800 Pomegranate Mar-

Jaco Olimate Margarita RTD, 1800 Pomegran garita RTD & 1800 Blueberry RTD:
Purchase 3 cases, receive a \$25 check. **Kraken Black Spiced Rum:**Purchase 3 cases, receive a \$100 check. **Three Olives Vodka & Flavors:** 750ml only
Purchase 5 cases, receive a \$75 check.
Purchase 10 cases, receive a \$150 check.
Purchase 20 cases, receive a \$2500 check.
Purchase 150 cases, receive a \$2500 check.
Three Olives Vodka: 1.75L only

Purchase 3 cases, receive a \$100 check.

November 2011

Remy Cointreau Famous Grouse:

Purchase 4 bottles, receive a \$6 check. Purchase 1 case, receive a \$24 check. Purchase 3 cases, receive a \$75 check. Highland Park 12 Yr:

Purchase 3 bottles, receive a \$6 check. Purchase 1 case (6btls), receive a \$15 check. St Remy Brandy: 750ml Purchase 6 bottles, receive a \$6 check. Purchase 1 case, receive a \$15 check. Purchase 3 cases, receive a \$72 check. Remy Martin 1738:

Purchase 3 bottles, receive a \$6 check. Purchase 1 case (6btls), receive a \$18 check. **Remy Martin VS:** 375ml & 750ml Purchase 6 bottles, receive a \$12 check. Purchase 12 bottles, receive a \$30 check. **Remy Martin XO:** 750ml Purchase 1 bottle, receive a \$12 check. Purchase 2 bottles, receive a \$30 check.

Purchase 3 bottles, receive a \$60 check. **Russian Standard**

Russian Standard Original & Platinum:

Purchase 1 case, receive a \$15 check. Purchase 3 cases, receive a \$50 check. Sazerac

99 Schnapps: Mix & Match Purchase 3 cases, receive a \$100 check. Purchase 3 cases, (1 must be Grape), receive a \$125 check. **Caravella Limoncello:**

Purchase 1 case, receive a \$25 check. Purchase 3 cases, receive a \$100 check. **DiAmore:**

Purchase 3 cases, receive a \$100 check. **Ridgemont Reserve:**

Purchase 1 case, receive a \$25 check. Purchase 3 cases, receive a \$100 check. Skol Vodka: 1.75L only

Purchase 25 cases, receive a \$50 check. Purchase 50 cases, receive a \$150 check. Purchase 100 cases, receive a \$700 check. **Skyy Spirits**

Carolan's: 750ml

Purchase 3 cases, receive a \$36 check. Purchase 5 cases, receive a \$180 check. Purchase 15 cases, receive a \$720 check.

<u>Skyy Vodka:</u> 750ml & 1.75L

Purchase 5 cases, receive a \$50 check. Purchase 10 cases, receive a \$120 check. Purchase 15 cases, receive a \$225 check. Purchase 20 cases, receive a \$360 check. Purchase 25 cases, receive a \$500 check. Purchase 50 cases, receive a \$1250 check. Wild Turkey 81°, 101°: 750ml & 1.75L Purchase 5 cases, receive a \$50 check. Purchase 10 cases, receive a \$120 check. Purchase 15 cases, receive a \$225 check. Purchase 20 cases, receive a \$360 check. Purchase 25 cases, receive a \$500 check. Purchase 50 cases, receive a \$1250 check. William Grant Balvenie 12 Yr: Purchase 1 case, receive a \$50 check.

Purchase 3 cases, receive a \$200 check. Balvenie 15 Yr:

Purchase 1 case, receive a \$75 check. Purchase 3 cases, receive a \$250 check. Glenfiddich 12 Yr:

Purchase 1 case, receive a \$50 check. Purchase 3 cases, receive a \$200 check. Glenfiddich 15 Yr:

Purchase 1 case, receive a \$75 check. Purchase 3 cases, receive a \$250 check. Hendrick's Gin:

Purchase 3 cases, receive a \$75 check. Milagro Silver:

Purchase 1 case (6btls), receive a \$25 check. Purchase 3 cases (18btls), receive a \$100 check. Sailor Jerry: All sizes Purchase 5 cases, receive a \$100 check. Purchase 15 cases, receive a \$400 check. Purchase 25 cases, receive a \$750 check. Stoli & Flavors: 750ml & 1.75L Purchase 5 cases, receive a \$100 check. Purchase 15 cases, receive a \$350 check. Purchase 25 cases, receive a \$700 check. Purchase 50 cases, receive a \$1600 check. Stoli & Flavors: 1L only Purchase 10 cases, receive a \$150 check. Purchase 25 cases, receive a \$500 check. **Tullamore Dew:** Purchase 3 cases, receive a \$100 check.

Purchase 10 cases, receive a \$250 check.

Code	Product	Size	Btl. Cost Pack	Bt. Cost Regular	Case Cost Special	t Special	UPC
41927	Burnett's Fruit Punch	0.750	12	6.82	6.15	73.80	9674920175
41279	Burnett's Grape (0.750	12	6.82	6.15	73.80	9674920091
41840	Burnett's Limeade Vodka (0.750	12	6.82	6.15	73.80	9674920183
41316	Burnetts Raspberry (0.750	12	6.82	6.15	73.80	9674920037
41692	UV Blue (Raspberry)]	1.750	9	15.95	15.45	92.70	8711601452
41625	UV Grape Vodka]	1.750	9	15.95	15.45	92.70	8711601481
41681	UV Red (Cherry)1	1.750	9	15.95	15.45	92.70	8711601461
	IMPORTED	Q	VODKA	KA			
34678		0.750	12	24.59	23.59	283.08	3604001754
	PUERTO RICO & VI	RG	ii Ni	VIRGIN ISLANDS	NDS	RUM	
43036	Bacardi Gold(0.750	12	11.30	10.30	123.60	8048002540
43035	Bacardi Gold PET0.750	0.750	12	11.30	10.30	123.60	8048002546
43046	Bacardi Select0.750	0.750	12	11.30	10.30	123.60	8048005540
43126	Bacardi Superior0.750	0.750	12	11.30	10.30	123.60	8048001540
43125	Bacardi Superior PET	0.750	12	11.30	10.30	123.60	8048001545
	FLAVOKED	(EU		Ν			
46105	Cabana Bay Wild Cherry (0.750	12	9.12	8.12	97.44	8193246342
44350	Cherry Jack Rum (0.750	12	9.00	8.00	96.00	8284406042
	AMERICAN CO	Ŭ	OCK	TAI	. 1		
59231	Ice Box Mudslide1750	1.750	9	10.52	9.52	57.12	8284452332
76767	Phillips Long Island Iced Tea1.000	.000	12	6.41	6.11	73.32	8711603662
77074	Southern Comfort Hurricane RTP1.750	1.750	9	15.01	13.51	81.06	8854438516
	COFFEE LIC	LIC	DUEI	UR			
67586	Kapali (0.750	12	8.58	7.58	90.96	8970800520
	CREAM LIC	LIC	UEI	R			
74763	Hot Rose Cinnamon Cream Liqueur 0.750	.750	12	15.07	13.07	156.84	8559214355
80326	Mc Guires Original (0.750	12	9.60	9.10	109.20	8193205350
65200	Tequila Rose (0.750	12	15.07	13.07	156.84	8559212103
	PEPPERMIN	NT SC		HNAPPS	S		
80826	Ice 101	0.750		14.01	13.51	162.12	8970800351
	ROOTBEER S	S	NH	NAPPS	~		
82456	Blackmaker Rootbeer(0.750	12	14.80	13.80	165.60	8970861950
	MISC. IMPORTED C	COR	IDA	L &]	LIQU	JEUR	
64996	Frangelico(0.750	12	19.52	16.52	198.24	8366437134
67192	X Rated Fusion (0.750	9	21.99	20.49	122.94	8142501401

lication reflect the	period. Other fac- ce. including the 9	50 cents per bottle	orary price reduc-	/ suppliers.
DISCLAIMER: Prices in this publication reflect the	current pricing for the applicable period. Other fac- tors affect the final wholesale price. including the 9	cent bottle deposit and surcharge, 50 cents per bottle	split case fee, as well as any temporary price reduc-	tions and other specials offered by suppliers.

9674920031 8711601463

9674920108

6.15 73.80

9674900204

73.80 78.90 92.70

6.15 13.15 15.45

)	1	
35416	35416 Burnett's0.750	12	12 6.82	
35418	Burnett's1750	9	6 14.15	1
37339	UV PET	9	6 15.95	-
	VODKAFLAVORED	OR	ED	
41299	41299 Burnett's Cherry	12	6.82	
November	November 2011 New Codes & Specials. Page 1 of 2			

Code	Product	Proof	Size	Pack	Btl. Cost	Case Cost	UPC
	NOVEMBER	Z	E	\mathbf{N}	\mathbb{Z}		S
16870	Blue State Bourbon	80	0.750	12	11.88	142.56	9674901252
21220	Red State Bourbon	80	0.750	12	11.88	142.56	9674901251
10846	Canadian Club Classic 12yr Whisky	80	0.750	12	18.45	221.40	8954014604
37642	River Pilot Vodka	80	0.750	9	19.21	115.26	2209914773
35221	Pinnacle Banana	70	0.750	12	11.81	141.72	8970845542
35881	Pinnacle Marshmallow	70	0.750	12	11.81	141.72	8970845152
35109	Russian Standard Original Vodka	80	0.750	12	16.33	195.96	3604001872
34138	Chambord Flavored Vodka	75	0.750	9	18.75	112.50	8330000003
45950	Tropical Jack Rum	42	0.750	12	9.00	108.00	8284400200
77395	Skinnygirl White Cranberry Cosmo	19	0.750	12	11.53	138.36	8068611002
83356	Ice Hole Plum Schnapps	40	0.750	12	7.73	92.76	8711603575
86812	Southern Comfort Fiery Pepper	70	0.750	12	14.04	168.48	8854400051
75210	Kinky Liqueur34	34	0.750	9	15.00	90.00	8427998343
75208	Kinky Liqueur	34	3.018	9	7.00	42.00	8427998597
	NOVEMB	ER	\mathbf{S}	BB	CI	AI	Ś
	STRAIGHT BOURBON	IRB		IHM	WHISKE	Y	
17826	Early Times	0.750	12	8.26	7.51	90.12	8112801062
21598	Ten High	1.750	9	13.64	13.14	78.84	8066020301
22156	Wild Turkey 101	0.750	12	18.74	17.99	215.88	8043255517
22158		1.750	9	35.95	33.95	203.70	8043255518
22121	Wild Turkey 81		12	16.25	14.33	171.96	2105984750
	TENNESSEE		WHISKE	KE			
26906	Jack Daniels Single Barrel	0.750 A N W	9 9 HIS	6 36.57 ISKEV	35.07	210.42	8218408700
11776		0.750		7.84	7.44	89.28	8810013455
11786	Traveler	0.750	12	7.84	7.44	89.28	8810013475
12406		0.750	12	6.37	5.87	70.44	8292822334
11936	Convenience Pack	0.750	12	6.37	5.87	70.44	8292822340
	SCOTCH WH	ME	IISK	ΕY			
4868	Dewar's White Label	1.750	9	39.99	35.99	215.94	8048023000
8828	Lauder's. SINGLE ML	MALT	SCC	16.76 OTC]	16.26 H	97.56	8066036501
5606	Mc Clelland Islay	0.750	12	19.51	18.51	222.12	8970800003
5596	McClelland Highland	0.750	12	19.51	18.51	222.12	8970800001
	TEC	TEQUII	V				
89274	El Jimador Anejo	0.750	9	18.58	17.58	105.48	4460763203
87586	El Jimador Blanco	0.750	12	15.95	14.95	179.40	4460768208
89278	El Jimador Reposado	0.750	12	15.95	14.95	179.40	4460706920
89496	Margaritaville Gold	0.750 12	12	10.52	9.52	114.24	8835212153
2112	Dumot?	OU F	Š s	ره م	6 15	00 22	1000001020